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Why is it so by noea y»n; because it is punishable with n=>

Overview

The R7) is attempting to salvage the 1" from 77V to teach us 7R3 MO°KR by
25m2 wa. The X7ma said that even though 777y has a X that it did not
have a "w127 nyw (as opposed to 11"22 which does have a w157 nyw),
nevertheless 577 nYw 77 X7 is no reason for X177 70°X for mova yn has a
w10n nyw and nevertheless it 1s X172 MOX. To which the X773 replied, but
noo2 yan has the X that it is 72 w1, This negates the 1" at this point.
moon will explain why an alternate 11°31° is unacceptable.
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And the X713 could not have presented a counter argument from =W

bmo1r7, whose meat is 7X372 MOK even though it had a 2w nyw. The P01 MY was M
X172 before it was ma. This would (seemingly) prove that w137 nyw 12 7°7 XY is no
cause for 7817 MO°X; thereby leaving the 1"p intact.

mooIN rejects this 7731
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For why are %poi7 = 179p forbidden mx172 because neither of them
had a "w517 nyw that it could be eaten; however 22 had a 79°98% w7 NYw.

Summary
We cannot say 11°21 2po31 W for it would be refuted that 5po1 MW A97w

both had no 979X w127 nyw.

Thinking it over
Why initially did moown deem 2poi 7w to be a sufficient m5v, and then
subsequently reject it as a 17°21°?

! See "1 Mmoo that the question is instead of saying a 121 from y»n we could say a m31 from Ypoxt MW
and we could not refute that i°21° by saying n72 wuy Dw.

2 5p0177 MW could have never been eaten; before the 7770 it is 70X because of 177 11 2K and afterwards it is
a 121 7721,

> When the two sources (of 7X37 Mo°X) have a common XM (which is 79382 w7 NYW 175 77 K?) we
cannot derive 11"22 from them since it lacks this &7a11.
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